Answers for Y6 Maths (wb 08.06.20)

Morning Mental Maths

Tuesday Wednesday Thursday Friday
l. 22.95 I, 2575 21, 6221 3. 14495 41, 201.67
2. 7 12. 6 22. 5 32. 4 42. 8B
3. 550 13. 62 23. 9400 33. 46 43. 30
4. 510 14. 3/10 24, 0.85 34, 1/5 44, 0.9
5. 10 I5. 7 25. 60 35. 16 45, 14
6. 65/100 or 13/20 l6. 21/100 26, 2/100 or 1/50 36. 89/100 46, 7/100
7. £7.63 17. £3.36 27, £19.17 37. £2.00 47. £5.14
8. -3°C 18. -4°C 28. -5°C 38. -7°C 48. -10°C
9. 39 19. 66 29. 53 39. 247 49, 253
10. 19 20. 23 30. 44 40. 50 50. 36
Monday
Answers provided at end of download
o Complete the calculations and sentences.
TueSdaY Use place value counters to help you.
Th H T o] Tth | Hth
09 00

a) 23x10=

When the number is multiplied by 10 the counters move D
place to the left.

When the number is multiplied by 100 the counters move |:|
places to the left.

When the number is multiplied by 1,000 the counters move D
places to the left.



o Complete the diagram.

x 10 x 10
b) Complete the calculations.

44 x 1= L-4
44x10=| Lu
o a) Draw counters on the place value charts to represent
each calculation. 44 x100=| LLO
4.4 x1
44x1,000=| |, LOO
Th H T Tth Hth
ice?
00 00 What do you notice?
00 100
4.4 x 10
o Complete the calculations.
Th H Hth
a) 1344 x10=| |2L-L d) 44 x| |, 000 |=4,400
4.4 x 100 b) 41.4x 100 =| L, L0 e| 0% |=103x100
w [ w | + O~ [
00 | OO © 0415x1,000=| LIS f) 3044=| 2-0LL |x10
| — [ ]
85189
4.4 x 1,000
w [ n [ v [ w [
00 | 0O
OO0 [ O




o Complete the diagrams.

x 10 x 10 1 x 10 :
» 30-39 .{ 203 9 'l 7,039 ] o Complete the calculations and sentences.

Use place value counters to help you.

7.039 » 7039 | 3,039
[ ® 00

x 1,000

7.039 [P 7 039

) - ) a) 140 + 10 = L]

When the number is divided by 10 the counters move | |

What do you notice? Why does this happen?

I'r_\gH oll %!“j: e Sagme 5;!'Dg;_1 answer !:gcauif;

10 X10 x\0 =100 X\0 = 1,000

place to the right.

b) 140 +100=| |-

When the number is divided by 100 the counters move 2

places to the right.

o Write >, < or = to compare the number sentences. 0 140+ 1,000=| O-ly

When the number is divided by 1,000 the counters move

1.4 x 10 x 10 x 10 @ 1.4 x 1,000 places to the right.
1.4 x 10 x 100 @ 1.4 x 1,000 © complete the diagram.
=10 =10
e N B
1.4 x 10 x 10 1.4 x 1,000
1.4 x 10 x 2 @ 1.4 x 100



o a) Draw counters to represent the calculations.

1251 o Complete the calculations.
H T Tth Hth Thth
e 00 |00 a) 6+10=| |& d) 332+ 1,000 [=0.332
O
123 = 10 b) 43.4 = 100 = 0(43“ e) 2.4 =200 = DO‘IQ
H Hth Thth
E 0 614 +1,000=| 0.6l f) 509=| 101.2 |+20
123 + 100
H T Tth Hth Thth
o Complete the diagrams.
E 00 (OO B
o) + 10 £ 10 £ 10
314 =P 1L > 3.4 =P O3y
123 + 1,000
] N e [ [
0O O &) = + 100
L © g j ’ 314 3 m O 3114

b) Complete the calculations. + 1,000
314 |~ O -3l
123+1=| 12%

123:10=| 12.2

What do you notice? Why does this happen?

jhgfi ald %!‘Eg bhe same inol answer becown

10 x\0xX\0 =100 *\0 = \,000

123+100=| |.93

123+1,000=| O.122

What do you notice?



o Dexter is solving the calculation 5,400 + 100

I think the
answer is 54.00

Is Dexter correct? 125

Explain your reasoning.

SLOO s the Same on 5S4




Wednesday o Nijah uses long multiplication to solve 3.72 x 3

3172

o Use place value counters to solve the calculations. ' % ' ' 3
06

a) 32x3=|q-[ 10

00

16

=0 N O

Tenths 1

[~
000 100 N
000 {00

Use long multiplication to work out the calculations.

000 :00 N b)
4.8 6 2:0 9
b) 46x2=|9-0 x 4 x 6
012 & oIS 4
Tenths 3120 010 0O
0000 00000 TaTul TTaTsa
@

0000 00000
O o Work out the multiplications.

a) 52x4=| 1. % d| 700 |=234x3
o Solve the multiplication. Draw your answer.
122x3=|%¢ L
Tens Tenths b) 143x3=| 429 €) 11505 x4=| L4602
O oo QO
o 00 0o
o o0 Q0

) 6x91=| SL-& f) 9.602x6=|57611




o 0.25 kg of flour is needed to make one cake.

How much flour is needed to make four cakes?

>

|Lr.3

o Work out the multiplications.

a) 7.2x2=| 14 4

72x4=|92% -2

144x4=|57 6

72x8=|53-6

o Amir is solving 3.4 x 4

©)®

Do you agree with Amir?

Explain why.

3 (s ten k¢ .

b)| |0 35 [=3.45x3

|02 -5 |=345x3

1,025 |=345x3

To solve this, I
did 34 x 4, which was 136

Then I multiplied my answer
by 10 to get an answer
of 1,360

NO

howe divided W 10 o gee 13:-6

o Use the digits 1, 2, 3 and 4 once each to create a calculation..

1 2 3 4

a) How many different products can you make?

Voviowd oyt

b) What is the greatest possible product?

¢) What is the smallest possible product?

d) What is the product closest to 127

12 -84

P19

12-36




Thursday

o Use place value counters to work out the divisions.

00
00

O

Q0O
O

o Work out the division. Draw your answer.

164 4= Ll

,d\ 0000|©0
O0000| 0
CQQOo0o07] o
O 000| 0

o Brett uses short division to work out 13.2 = 6

0/2.2
6|1/'3:2

Use short division to work out the calculations.

0| . . b
0[312 o0/2!3]1
727274 81848

o Work out the divisions.
a) 256=8=| 4 -4 d)| 289 |=1945=:5

b) 148:4=| 37 e) 20235:3=|67-LS

¢ 1848:6=|2 0% f) 105.12:9=( |68




o Esther solves 13.2 + 4 by partitioning 13.2 into two numbers that are
easier to divide. o Work out the divisions.

a) 964 4= 2L

964 4= 7|

0964 4= O-2L)

964+8=| |-20S
132+ 4=33
b) 1944:9=| 2-1L
Use Esther’s method to complete the part-whole model
and calculation. 1953 + 9= 2-1%

1962:9=| 2.18%

o Fill in the missing numbers.

36+4=36+| LO

36+4= 2-21]+8

o Complete the calculation.

92+4=2.3 165+3=15-5

e.j. 84+| 1 |=42+ |

How many different solutions can you find?



Friday o a) Shade 0.17 of the hundred square.

%%
%%
o Complete the sentences. 2%
a) % E
0.1 0.1 0.1 ] 01 0.1 0.1 0.1 0.1 0.1 0.1 a %
%%
The whole has been divided into| |() |equal parts. %ﬁ

: L]

Each part is worth | () *| I

|
This is equivalent to I_a Complete the sentence.

|7 |partsoutof| 100 |are shaded.

b)
Write 0.17 as a fraction.
13
017 =7
loo

b) Shade 0.2 of the hundred square.

3%
ORI [ R [

EENEEEEEEE a

The whole has been divided into| | () |equal parts.

AR

Each part is worth [ (-0 |

| |partsoutof| |()() |areshaded. ]
Complete the sentence.
L . 10 \
This is equivalent to |-— —
@ loo| °° o 20 |partsoutof| I()) |are shaded.

Write 0.2 as a fraction in its simplest form.

|
0.2 = 5




01 )01]01]01]01 |01 ] 01 ] 0.1

0.1

0.1

0.2 0.2 0.2 0.2

0.2

Use the bar models to fill in the missing numbers.

02=—7- =

e

4
68|=S-=%

d | 009]=700

|09 |=5
f) 2_1=@= ‘L2
50 - 100 | °“

o Use the bar models to fill in the missing numbers.

" [

1 |2
11171 2770 05
d- .G
. O l=70 =

Draw a diagram to show that Ron is wrong.
4 )
[A7AL WWE@
A, wimy 03 = =
Whieh AU D
Sz Are
i1
2 RAmlghhl ©-37:32
A7) A0 \oo
ninvh ArZn
mihim 70
hinth |4/
\ J




